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ECE 3355
Quiz #5
July 20, 2017

1. You may have an 8 %2 x 11” crib sheet, but no other materials, and no
communication devices of any kind.

2. Show all work necessary to complete the problem on these pages. If you go on
to another page, indicate clearly where your work can be found. A solution
without the work shown will receive no credit.

3. Show all units in expressions and figures.

4. Do not use red ink.

5. You will have 25 minutes to work on this quiz.
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Room for extra work



In the circuit below, neither of the BJTs is in cutoff. Find Vg; and VE,. For both
devices, B = 100 and the magnitude of Vg =0.3 V.

To receive full credit, you must prove that your assumption as to the state of the
BJTs is correct. Credit will be given for incorrect assumptions if you prove that
the assumptions are incorrect.
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Room for extra work
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